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B.A./B.Sc. (Part II) Examination

ECONOMICS
(Macro-Economics)
Paper : EC-03

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. Give the answers of the following questions :

fAfafea a9 & SW SN :
(i) Macro Economics
gufte stefomen
(11) Fallacy of Composition
SIER:EL IR
(ii1) Net National Product
S TEA TR
(iv) Effective Demand
rerqul |
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(v) Liquidity Trap
ALAAT ST
(vi) Write names of four theories of Trade Cycle.
MR 9% & AR 9gri & T4 fafew)
(vii) Innovation
REEERE
Section-B 4x7=28
(Short Answer Type Questions)
Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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. What are the limitations of Macro Economic

Analysis ?

Tafte affefen fageroor @t 1 HEW § ?

. Write short note on Green Accounting.

A TR W gfara feoon fafem

. Explain the problem of Double Counting. How

can we solve it ?

el AT HI GHE HI FEA HIST| BH ZH hY
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. Explain Say’s Law of Market.

T & deR 9 S guEmEe

. Write short note on criticism of classical model

by Keynes.
w gr wfaftssa fagia w1 steie W gtk feogof
fafem |
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7. Explain Investment Multiplier.
et TR Rl TSR
8. What is Trade Cycle ? Explain its stages.
MR =% M ¥ 7 TR SIS w HHRT
9. Explain the following :
(i) MPC
(ii) APC
(iii) Autonomous Investment
(iv) Induced Investment
fr=fafed =1 9=y -
(i) MPC
(ii) APC
(iii) emea fere
(iv) R fee

EC-03/7 (5) TT-306 T1urnOver

Section—-C 2x14=28
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 14 marks.
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10. Describe the various concepts of National Income.

How do they relate to each other ?

T o &t fafv= saemonstt w1 fafew) a &
YHER TH-TW § Hafed § ?

11. What is Effective Demand in Keynesian Theory ?

How it determines National Income/outputs ?
#Ig & faga § gyl 7 7Y Fed T 2 7w A
/3 e gRR freifa &t & 2
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12. Explain the following :
(i) Economic Development
(i1)) Measures to control Trade Cycles
fr=fafed =1 @9=mET
() onfdw fowm

(i) =R =i w1 At F31 3 S

13. Explain the Actual, Warranted and Natural rates
of growth in Harrad Model. Why equilibrium in
this model is called knife-edge equilibrium ?
We Hica # arafas, difsd iR wefas gfg < =i
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